


























































































































PART INFORMATION
PI

YAMAHA MOTOR INDIA PVT. LTD.,  19/6, Mathura Road, Faridabad-121 006; Haryana-India.

cc : RBH/RSM/BM/SALES EXECUTIVE/SERVICE EXECUTIVE/PARTS MANAGERS
: AUTHORISED SERVICE POINT (ASP)

PI

YAMAHA MOTOR INDIA PVT. LTD.,  19/6, Mathura Road, Faridabad-121 006; Haryana-India.

cc : RBH/RSM/BM/SALES EXECUTIVE/SERVICE EXECUTIVE/PARTS MANAGERS
: AUTHORISED SERVICE POINT (ASP)

YMI : PARTS 0031
Date :  24 July, 2006
To : All Dealers

SUB. :  Change in Part Nomenclature - Shock Absorber Comp Rear
- Rajdoot Models

fo"k; % fo"k; % fo"k; % fo"k; % fo"k; % Shock Absorber Comp Rear ds ikVZ uEcj es cnyko ds ikVZ uEcj es cnyko ds ikVZ uEcj es cnyko ds ikVZ uEcj es cnyko ds ikVZ uEcj es cnyko
- Rajdoot Models

This is in continuation to our Earlier Service Action No.2525 dated 9th Sept., 2000 on
change in Part Nomenclature for Shock Abs Comp Rear.
;g gekjs Shock Abs Comp Rear ds ikVZ uEcj esa cnyko ds ckjs esa iwoZ izdkf'kr lfoZl ,D'ku
uañ2525 fnukad 9 flrEcj] 2000 ls lEcfU/kr gSA
We are also attaching copy of Service Action No.2525 for your reference.
vkidh tkudkjh ds fy, ge lfoZl ,D'ku uañ2525 dh dkWih Hkh layXu dj jgs gSaA

31

S.No. Earlier Now Part Number Model
1 Shock Abs Comp Rear No Change 123.21.05.00 154
2 Shock Abs Rear Damper Assy 123.21.06.00 154
1 Shock Abs Comp Rear No Change 1K2.21.01.00 1K3
2 Shock Abs Rear Damper Assy 1K2.21.02.00 1K3
1 Shock Abs Comp Rear No Change 141.21.03.00 144
2 Shock Abs Rear Damper Assy 141.21.04.00 144
1 Shock Abs Comp Rear No Change 138.21.03.00 238
2 Shock Abs Rear Damper Assy 1K2.21.02.00 238

F.P. LOBO
PARTS DIVISION

You are most earnestly requested to please explain, the above to your SALES, SERVICE
& SPARE PARTS TEAM .
vkils vuqjks/k gS fd mijksDr fyf[kr ckrsa] viuh lsYl] lfoZl o Lis;j VhelsYl] lfoZl o Lis;j VhelsYl] lfoZl o Lis;j VhelsYl] lfoZl o Lis;j VhelsYl] lfoZl o Lis;j Vhe dks vPNh rjg ls le>k;saA
Please do not hesitate to seek any clarification from our visiting YMIS FIELD TEAM .
d`i;k vki fdlh Hkh izdkj ds Li"Vhdj.k ds fy, gekjh okbZñ,eñvkbZñ,lñ foftfVax lfoZl VheokbZñ,eñvkbZñ,lñ foftfVax lfoZl VheokbZñ,eñvkbZñ,lñ foftfVax lfoZl VheokbZñ,eñvkbZñ,lñ foftfVax lfoZl VheokbZñ,eñvkbZñ,lñ foftfVax lfoZl Vhe ds
lnL;ksa ls lEidZ djus esa u f>>dsaA



YMEL : SERV : 2525
9th September, 2000

128RD 1
4

TO : ALL POINTS
MODIFIED "REAR SHOCK ABSORBER"
ALL RAJDOOT MODELS (154/1K3/144/238)

r FIELD OBSERVATION : Breakage of Piston Rod at its threaded end.

r COUNTER MEASURE : (Please refer Annexure-II.

S.No. PART DESCRIPTION EARLIER    à NOW
  1. Piston Rod (Thread Pitch Size) M8x1.50 M10x1.25
  2. Top Mounting (Thread Pitch Size) M8x1.50 M10x1.25
  3. Hole in Piston Rod ü (Is there) ü (Is there)
  4. Special Nut x (Not there) ü (Is there)
  5. Ring Buffer (Height-mm) 22 mm 15 mm
  6. Shock Absorber (238 Model)* 38 Dia. 34 Dia.

NOTES : * Dia. of tube reduced to make it common with other
Models Consequently, "Spring Support Welded" has been
modified accordingly.

r APPLICABLE MODEL : 154, 1K3, 144, 238

r IMPLEMENTATION : w.e.f. 1) Serial No. 1829100   2) Month-
Aug.'2000

r LIST OF AFFECTED PARTS : (Please refer Annexure-I)

Notes : 1) The parts listed in "Now" are interchangeable with those listed in
column.

2) The parts listed in column "Now" supercedes that listed in column
"Earlier" - as a set

3) Please update parts catalogue of Rajdoot & place your order for
spare through Parts Centre in usual manner.

r FIELD ACTION : Please monitor the effectiveness of the
countermeasure.

YAMAHA MOTOR ESCORTS LIMITED, 19/6, MATHURA ROAD, FARIDABAD - 121 006; HARYANA - INDIA

Contd....2/-

SERVICE  ACTION



You are most earnestly requested to please explain the above to your SALES, SERVICE
& SPARES TEAMS.

Please do not hesitate to seek any clarification from our visiting YMEL FIELD TEAM.

Wishing you ever increasing customers retention through SKILLED & CARING
SERVICE.

2
4

F.P. LOBO
CC: • Zonal Manager

• Service Planning Managers

• Business Managers

• Area Sales Executives

• Area Service Executives

Please Ensure that :

1. All you Dealership have a copy of this Circular.

2. All concerned at your Dealerships have understood

contents of this Service Action.

Contd....3/-Enclosure to Service Action No. 2525



r LIST OF AFFECTED ANNEXURE I

3
4

Contd....4/-Enclosure to Service Action No. 2525

  S.N. Parts Description            Part Number Qty. 154 1K3 144 238

    Earlier       Now

1. Shock A B S Rear Comp. 123.21.03.00 123.21.05.00 1 •

2. Top End Piece 1K1.21.01.01 1K2.21.01.01 1 • •

3. Ring Buffer 112.03.01.03 112.21.01.04 1 • • •

4. Special Nut         -- 112.03.02.02 1 • • • •

5. Shock A B S Rear 123.21.04.00 123.21.06.00 1 •

6. Shock A B S Rear Comp. 1K1.21.01.00 1K2.21.01.00 1 •

7. Shock A B S Rear 1K1.21.02.00 1K2.21.02.00 1 •

8. Shock A B S Rear Comp. 144.21.01.00 141.21.03.00 1 •

9. Shock A B S Rear 144.21.02.00 144.21.04.00 1 •

10. Top End Piece 111.03.01.09 1K2.21.01.01 1 • •

11. Ring Buffer 144.21.01.05 112.21.01.04 1 •

12. Spg. Support Welded 144.21.01.04 115.21.02.00 1 •

13. Cup Washer        -- 150.21.01.02 1 •

14. Shock A B S Rear Comp. 138.21.01.00 138.21.03.00 1 •

15. Shock A B S Rear 138.21.02.00 1K2.21.02.00 1 •

16. Spring Rear Suspension 138.21.01.01 1K1.21.01.03 1 •

17. Cover Bottom 111.21.01.04    Deleted 1 -

18. Spring Retainer 111.21.01.02 1K1.21.01.04 1 •

19. Cover Top (Painted) 138.21.01.02 138.21.03.01 1 •

à



4
4

Enclosure to Service Action No. 2525

ANNEXURE - II


